Slide 1
In this module, debits and credits are introduced along with the “T” account. Then the accounting equation is illustrated using “T” accounts.

Slide 2

Debits are accounting terms that indicates to the left and Credits indicate to the right. Debits are abbreviated as Dr. and Credits are abbreviated as Cr. We use debits and credits to indicate where entries are made in the individual accounts.

Slide 3
Here is a T-account. T-accounts are simplified depictions of manual ledger accounts. In this topic we basically show you manual accounting.  Although most accounting is done electronically these days it is helpful to know the basics of manual accounting so that you understand what goes on behind the scenes in an automated accounting system. Notice that debits are on the left side of the T-account and credits are on the right.
Slide 4
Now let us apply Debits, Credits and T-accounts to the accounting equation.  Notice that Assets are increased by debiting the T-account. This has been depicted by the green colored DR and plus sign. Then going to the right of the equal sign we see that liabilities are increased by credits. This too is depicted by the green CR and plus sign. Owners’ or Stockholders’ equity also is increased by credits.  The green CR and plus sign under owners’ equity indicates this as well. 
Now if you focus on the green DR’s and CR’s you will see that next important equation in accounting. DEBITs = CREDITs. The next important point of this slide notice that Revenue’s which increases retained earnings and thus increases owners’ equity is increased by credits and expenses are debited.

Some of this is counter intuitive to some of you as you often think of debits and credits in terms of how the bank communicates to you.  Most of you think debits reduce and credits increase.  It depends on the perspective.  The bank thinks of your account in bank terms.  Thus when they credit your account with a deposit they are acknowledging to you that they have an obligation or liability to you.  When they debit your account for fees they are thinking of the fee as an increase to their assets.  All these years you have been thinking about your checking account in bank terms not in terms of your interests.
Slide 5
Let us now determine from the following list which have debit balances and which have credit balances.  As always take out a piece of paper and do it yourself before you check the next slide. 

Accounts payable is located on the right side of the equation and thus has a credit balance.

Advertising expense is located on the right side of the equation. It however decreases retained earnings and decreases owners’ equity so it carries a debit balance.

Service revenue is located on the right side of the equation. Remember revenue increases retained earnings and thus increases owners’ equity. So service revenue carries a credit balance. For the purposes of this class you can essentially credit all revenue accounts and debit all expense accounts.
Accounts receivable is located on the left side of the equation and is considered an asset. Thus it maintains a debit balance.

The retained earnings account is located on the right side of the equation and carries a credit balance.

Dividends is located on the right side of the equation but it reduces retained earnings and thus reduces owners’ equity so therefore must maintain a debit balance.

Slide 6
Solution to the problem in slide 4

